Laholms BK

Laholmsguldet 2011-04-02

Partavling, 22 bord, 44 par.

Antal brickor: 62. Medel: 1302.2.

Plac Par Poéng % Namn MID Klubb
1 13 1578.4 60.62 Niclas Johansson - Per Jansson 14128 2485 Konga BK
2 11 1559.4 59.89 Mikael Westerlund - Kent Johansson 9690 1834 BK Lyx
3 39 15224 58.46 Marten Gustawsson - Leif Bremark 8699 11042 Nasby BS - BK S:t Erik
4 12 1488.9 57.18 Pierre Carbonnier - Hakan Tjarnemo 5538 5534 LUCK
5 40 1477.6 56.74 Per-Inge Helmertz - Rolf Bengtsson 1322 4614 Kullabygdens BK - Malmd BK
6 18 1438.1 55.23 Hans Svidén - Sture Ekberg 7042 4859  Eksjo BK - Kungsbacka BS
7 3 1426.6 54.78 Roger Wiklund - Magnus Eriksson 10530 1170 BK Falkenberg - Harplinge BK
8 34 1418.1 54.46 Otto Berntsson - GoOte Berntsson 78315 92122 Orust BK
9 24 1400.6 53.79 Marie Ynner - Jan Wistrom 38957 4167 BK Allians, Halmstad
10 41 1400.2 53.77 Lars-Goran Larsson - Séren Lennartsson 6849 9338 Uddevalla BF - Falkdpings BS
11 20 1388.4 53.32 Dan Andersson - Rasmus Andersson 5432 24965 Munka Ljungby BS
12 2 1381.4 53.05 Per Andersson - Jan Nilsson 17111 11991 BK Albrekts - BK Falkenberg
13 42 13594 5221 Tommy Johansson - Roland Svensson 16141 92781 Laholms BK
14 44 13534 51.97 Lena Petersen - Jaenita Johansson 12966 7598 BKLyx - Boras BA
15 38 1345.0 51.65 Roland Andersson - Morgan Wiklander 1766 1785 Vargarda BS - Alingsas BS
16 28 13449 51.65 Arne Eriksson - Lars Stenlund 12242 5960 Anderstorps BK - BK Lavec
17 23 1339.6 51.44 Jan-Erik Helmersson - Jorgen Neldemo 4243 18660 Veddige BS
18 33 1328.6 51.02 Nils Anhlén - Per Ostlund 1169 11850 BK Everfresh - Salamandern/Wasa
19 37 1306.9 50.19 Lars-Goran Niklasson - Gert Bengtsson 11361 30102 LUCK
20 10 1301.1 49.97 Suzanne Larsson - Michael Lemborn 14984 1215 Karlstads BK
21 16 1297.4 49.82 Lars Kennethsson - Arne Blomqvist 17074 7005 Anderstorps BK
22 6 1295.4 49.75 Vera Gemrud - Per-Ingvar Skoglund 23764 2734  BK Falkenberg
23 30 1290.6 49.56 Goran Selldén - Robert Back 4863 11174 BKLyx
24 25 1270.3 48.78 Goran Johansson - Christer Nilsson 9624 12807 Laholms BK
25 7 1263.6 48.52 Sdren Westling - Martin Lundberg 27606 26104 BK Everfresh
26 31 1261.4 48.44 Bengt Emanuelsson - Anders Freij 4620 5548 LUCK
27 43 12554 48.21 Lars-Erik Moberg - Galina Nilsson 8593 29991 Vanersborgs BS
28 21 1250.7 48.03 Rune Carlsson - Bertil Nilsson 11874 9916 BK Allians, Halmstad
29 32 1242.6 47.72 Olafur Valgeirsson - Ragna Olafsdottir 1256 9197  Vessigebro BS
30 36 12389 4758 Stefan Lilja - UIf Backman 20858 82648 BK Opalen - Kristinehamns BK
31 1 1236.6 47.49 Jan Olofsson - Leif Olofsson 4750 79 Kullabygdens BK
32 17 12244 47.02 Mats Pettersson - Sven-Olov Flodgvist 5587 9027 BK Lavec - LUCK
33 27 12119 46.54 Johan Goransson - Robert Frank 6915 25150 Majstangens BK
34 19 1204.1 46.24 Niklas Andrén - Hans Jonsson 1623 85805 Ystads BS - BK Lyx
35 5 1201.2 46.13 Carina Torstensson - Ingmar Mansson 465 10551 Bjarnums BK - Hastveda BK
36 4 1196.6 45.95 Britt-Marie Fraenkel - Agneta Svenberg 2783 26779 BK Albrekts
37 26 11916 45.76 Jan Johansson - Bengt Collryd 49914 6884 Bredaryds BK
38 29 1187.6 45.61 Ingemar Henrysson - Nils-Erik Ekholm 21350 5455 Munka Ljungby BS
39 15 1178.6 45.26 Inger Ostenson-Traff - Sofia Alecu 89395 89416 BK Allians, Halmstad
40 8 1159.0 44.51 Goran Stiernfeldt - Jan-Erik Larsson 15885 593 Héstveda BK - Hassleholms BK
41 14 1146.4 44.03 Bo Gisslander - Soren Axelsson 51029 8192 Bredaryds BK
42 35 1135.6 43.61 Lars Hermansson - Lars Petersson 89595 24271 Bredaryds BK
43 22 11054 4245 Fredrik Hedesand - Birger Johansson 631 8490 BK Allians, Halmstad
44 9 1092.1 41.94 Lars-Ake Gustafsson - Bjérn Wenander 17359 4856  Mdlinlycke BS
1 4 E73 2 4 ED10976 3 «ED4
Nord vE10642 Ost vED5 Syd v EKDKn762
Ingen .- NS +8 ov ¢-
#KD1093 #EK7 *ED6
410542 48 4 Kn5 4 K8 10 4 865
v75 v Kn983 v 743 v Kn8 v 105 v 984
¢ E9852 ¢ Kn764 ¢+ DKn92 ¢ K1053 ¢+ Kn6532 ¢ ED7
*42 #8765 #Kn962 #108543 #97532 #K1084
4« KDKn96 4432 4 KKn9732
vKD v K10962 v3
¢+ KD103 ¢+ E764 ¢ K10984
&EKn D #Kn
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng
13 32 74 S= ¢+A 1510 410 1.0|30 15 6vy N+1 v8 1460 410 1.0|34 13 74DS= ¢2 1770 420 0.0
33 12 74 N= v7 1510 410 1.0(38 7 6v S+l +Q 1460 410 10| 1 3 74N= ¢+A 1510 27.0 15.0
20 25 6N S+1 v5 1020 350 7.0| 4 41 64 N= +8 1430 30.0 12.0| 9 38 74 N= ¢+A 1510 27.0 15.0
31 14 6NS+1 «4 1020 350 7.0| 9 36 64 N= vJ 1430 30.0 12.0|14 33 74 S= «5 1510 27.0 150
35 10 6N S+1 v7 1020 350 7.0|13 32 6v N= vJ 1430 30.0 12.0|20 27 74 S= «5 1510 27.0 15.0
38 7 6NS+1 v7 1020 350 7.0(21 24 64 N= ¢3 1430 30.0 12.0|21 26 7v N= «5 1510 27.0 15.0
4 41 64 S+1 ¢+A 1010 29.0 13.0(23 22 64 N= #6 1430 30.0 12.0|22 25 74 S= vT 1510 27.0 150
19 26 64 S+1 ¢+A 1010 29.0 13.0(28 17 64 N= ¢2 1430 30.0 12.0|24 23 74 N= ¢+A 1510 27.0 15.0
3 42 6NN= ¢ A 990 18.0 24.0(34 11 6v S= +Q 1430 30.0 12.0{28 19 7v N= ¢+A 1510 27.0 15.0
8 37 6NS= ¢ A 990 18.0 240(40 5 6v S= v3 1430 30.0 12.0|29 18 7v N= ¢+A 1510 27.0 150
9 36 6NS= ¢ A 990 18.0 240(44 1 64 N= ¢5 1430 30.0 12.0{30 17 7v N= ¢+A 1510 27.0 15.0
23 22 6NS= ¢ A 990 18.0 24.0| 3 42 44 N+2 %3 680 11.0 31.0(31 16 74 N= ¢+A 1510 27.0 15.0
27 18 6NN= +6 990 18.0 240 6 39 44 N+2 3 680 11.0 31.0(32 15 74 S= v5 1510 27.0 150
30 15 6N S= ¢ A 990 18.0 24.0| 8 37 44 N+2 3 680 11.0 310(39 8 7vS= v5 1510 27.0 15.0
34 11 6NS= ¢ A 990 18.0 24.0(19 26 44 N+2 vlJ 680 11.0 310(41 6 7v N= ¢+A 1510 27.0 15.0
40 5 6NS= ¢ A 990 18.0 24.0(20 25 44 N +2 *6 680 11.0 310(| 4 43 64 S+1 +5 1010 7.0 35.0
43 2 6NS= ¢ A 990 18.0 24.0(27 18 4v S+2 +Q 680 11.0 310| 5 42 64 S+1 vT 1010 7.0 35.0
29 16 6y N= 48 980 8.0 34.0(29 16 4v N +2 sJ 680 11.0 31.0(10 37 6v N+1 v4 1010 7.0 35.0
28 17 7vy N-1 +4 -50 6.0 36.0(31 14 44 N+2 +5 680 11.0 31.0(35 12 64 S+1 #2 1010 7.0 35.0
6 39 7NDS-1 +A -100 2.0 40.0|33 12 4y N+2 v3 680 11.0 31.0(36 11 64 S+1 «2 1010 7.0 35.0
21 24 7INDS-1 +A -100 2.0 40.0|43 2 44 N+2 *3 680 11.0 31.0(44 2 64 S+1 ¢+A 1010 7.0 35.0
44 1 7INDN-1 ¢A -100 2.0 40.0|35 10 4v S+1 »6 650 0.0 42.0| 7 40 2# N-2 a4 -100 0.0 42.0
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4 « ED542 5 +E 6 K108
Vast v 1082 Nord v K109543 Ost v10
Alla ¢ E7 NS + DKn102 ov + DKn86532
#1042 K3 #93
487 4103 4Kn984 4762 +E4 497652
vDKn75 vE643 vDKn87 ¥E6 v EKKn632 v97
+94 + 108653 +53 + K864 ¢- + E109
#EKD75 #93 £764 #E985 #Kn10865 #E72
» KKn96 « KD1053 « DKn3
vK9 v2 v D854
¢ KDKn2 ¢ E97 ¢+ K74
#Kn86 #DKn102 &KD4
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
20 27 4vDV-3 +A 800 420 00| 2 4 3NS+2 v7 660 410 1.0|40 9 3¢DN= v9 470 42.0 0.0
21 26 44 N+1 +8 650 40.0 2.0|/40 9 3NS+2 +5 660 410 10| 5 1 3NV-3 +6 300 40.0 2.0
14 33 1INV -2 a2 200 38.0 4.0|15 34 3NN+1 »8 630 36.0 6.0|31 18 3¢ N= v9 110 38.0 4.0
22 25 24 N+1 vA 140 33.0 9.0|29 20 3NS+1 48 630 36.0 6.0|11 38 4¢ N-1 *A -50 35.0 7.0
30 17 24 S+1 *A 140 33.0 9.0(33 16 3NN+1 48 630 36.0 6.0|22 27 4¢ N-1 *A -50 35.0 7.0
39 8 34 N-= *9 140 330 90| 5 1 3NS= 48 600 250 17.0| 6 43 3NN-2 v9 -100 32.0 10.0
41 6 24 N+1 *9 140 33.0 9.0| 6 43 3NN= +5 600 250 17.0(25 24 2v V+1 +J -140 30.0 12.0
5 42 24 V= ¢ A -90 28.0 14.0(10 39 3NN= *7 600 250 17.0|15 34 3v V+1 ¢+ Q -170  25.0 17.0
1 3 44 N-1 *9 -100 13.0 29.0|11 38 3NN= *6 600 25.0 17.0(21 28 3v V+1 +Q -170 25.0 17.0
4 43 44 N-1 *9 -100 13.0 29.0|32 17 3NS= a4 600 250 17.0|33 16 3y O+1 +Q -170 25.0 17.0
7 40 1a N-1 *9 -100 13.0 29.0|35 14 3NS= +5 600 250 17.0(42 7 3vV+1 +J -170  25.0 17.0
9 38 44 N-1 *6 -100 13.0 29.0|36 13 3NS= &4 600 25.0 1701 2 4 5¢DS-2 ©vA -300 18.0 24.0
10 37 44 N-1 *9 -100 13.0 29.0|37 12 3NS= *4 600 25,0 17.0|10 39 5¢DN-2 YA -300 18.0 24.0
24 23 44 N-1 *9 -100 13.0 29.0| 8 41 2v N+1 46 140 15.0 27.0|23 26 5¢DS-2 ©vA -300 18.0 24.0
28 19 44 N-1 *8 -100 13.0 29.0|31 18 2v N+1 +6 140 15.0 27.0|32 17 5¢DN-3 v9 -500 13.0 29.0
29 18 44 S-1 *A -100 13.0 29.0|30 19 2v N= +6 110 12.0 30.0(35 14 5¢DN-3 v9 -500 13.0 29.0
31 16 44 N-1 *9 -100 13.0 29.0|21 28 3NN-1 +6 -100 7.0 350 8 41 4v V= ¢+ Q -620 7.0 35.0
32 15 44 S-1 *A -100 13.0 29.0|23 26 4v N-1 A -100 7.0 350(29 20 4y V= +Q -620 7.0 35.0
34 13 44 N-1 *9 -100 13.0 29.0|25 24 4v N-1 *A -100 7.0 350(30 19 4v V= +Q -620 7.0 35.0
35 12 44 N-1 *9 -100 13.0 29.0|42 7 3NS-1 +5 -100 7.0 35036 13 4v V= ¢+ Q -620 7.0 35.0
36 11 44 N-1 *9 -100 13.0 29.0|22 27 5y N-3 A -300 1.0 41.0|37 12 4vyDV= +Q -790 2.0 40.0
44 2 44 N-1 *9 -100 13.0 29.0|44 3 5NS-3 +5 -300 1.0 41.0|44 3 54DS-9 ©vA -2300 0.0 42.0
7 452 8 4« Kn86 9 « EDKn2
Syd vE10532 Vast v EK965 Nord v Kn6
Alla + 862 Ingen +D ov + Kn9g4
#1065 &#ED54 852
109 « DKn83 4 E5432 41097 41064 &K753
vDKnd4 v96 v 102 v DKn874 vEK92 v103
¢ EKn43 ¢ K1095 ¢ E10743 ¢ 65 ¢+ ED7 #1053
D843  #KKn2 &7 #832 D63 #KKnl04
« EK764 « KD 98
v K87 v3 vD8754
+ D7 + KKn982 + K62
&E97 #KKn1096 &E97
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
24 27 2vyDN+1 ¢9 870 420 0.0|31 20 44DV-5 ¢K 1100 42.0 0.0|24 29 3NV-1 +4 100 42.0 0.0
41 10 3¢ O-3 s A 300 40.0 2.0|37 14 64 N= oT 920 40.0 20|34 19 2v S-2 Ly -100 39.0 3.0
11 40 2v N +2 aT 170 380 40| 3 5 3NS+2 ¢+ 4 460 31.0 11.0|39 14 INS-2 Ly -100 39.0 3.0
7 1 3vS= aT 140 350 7.0 6 2 3NN+2 oT 460 31.0 11.0|17 36 2¢ V+1 *2 -110 35.0 7.0
43 8 2v N+1 +Q 140 350 7.0| 7 1 3NS+2 +3 460 31.0 11.0|33 20 24 O= *7 -110 35.0 7.0
30 21 14 S+1 49 110 30.0 12.0|11 40 3NN +2 ¢+ 4 460 310 11.0| 1 9 INV+1 +8 -120 26.0 16.0
34 17 14 S+1 vQ 110 30.0 12.0|12 39 3NN +2 oT 460 31.0 11.0| 4 6 INV+1 4Q -120  26.0 16.0
37 14 2v S= oT 110 30.0 12.0|23 28 3NN +2 oT 460 31.0 11.0|10 43 1INV +1 *2 -120 26.0 16.0
6 2 1a S= vQ 80 22.0 20.0(32 19 3NS+2 a2 460 31.0 11.0|23 30 INV+1 ¢+ 4 -120 26.0 16.0
23 28 14 S= vQ 80 22.0 20043 8 3NS+2 43 460 31.0 11.0|25 28 1INV +1 ¢+ 4 -120  26.0 16.0
26 25 14 S= 3 80 22.0 20024 27 3NS+1 *4 430 20.0 22.0(37 16 INV+1 +8 -120 26.0 16.0
32 19 14 S= *4 80 22.0 20026 25 3NS+1 ¢+ 4 430 20.0 22.0(42 11 INV+1 +8 -120  26.0 16.0
44 4 14 S= *4 80 22.0 20.0(33 18 3NN +1 43 430 20.0 220| 7 3 INV+2 4] -150 13.0 29.0
3 5 14S5-1 s -100 8.0 34016 35 5&# N= a7 400 12.0 30.0|12 41 2v S-3 3 -150 13.0 29.0
9 42 14 S-1 *4 -100 8.0 34.0(34 17 5& N= aT 400 12.0 30.0|13 40 1INV +2 3 -150 13.0 29.0
12 39 14 S-1 *4 -100 8.0 34.0(36 15 5# S= ¢A 400 12.0 30.0(31 22 1INV +2 *2 -150 13.0 29.0
16 35 14 S-1 v4 -100 8.0 340(38 13 5&# N= oT 400 12.0 30.0(32 21 INV+2 a2 -150 13.0 29.0
22 29 14 S-1 aT -100 8.0 340(44 4 54 N-= s A 400 12.0 30.0|44 5 2v N-3 vT -150 13.0 29.0
31 20 14 N-1 oT -100 8.0 340 9 42 3vy N-1 oT -50 3.0 39.0(35 18 INV+3 +8 -180 6.0 36.0
33 18 14 N-1 43 -100 8.0 34.0(22 29 3vy N-1 6 -50 3.0 39.0(38 15 3v S-4 v2 -200 4.0 38.0
36 15 14 S-1 +3 -100 8.0 340(30 21 6# N-1 3 -50 30 390 8 2 2¢vDS-3 3 -500 2.0 40.0
38 13 14 S-1 oT -100 8.0 34.0(41 10 64 S-1 s A -50 3.0 39.0(27 26 3NV= vJ -600 0.0 42.0
10 » K84 11 43 12 4875
Ost v 632 Syd v DKn42 Vast v EK6
Alla ¢ Kn5 Ingen ¢+ D54 NS ¢+ ED43
#EDKn94 #K10965 #654
4 E7653 4 DKn92 « D85 » EK4 &« KD2 # Kn943
vKn109 vD54 vE8 v 10953 v 543 vD1087
49843  ¢1076 ¢ E10973 ¢ K862 +98 + KKn2
»5 *K73 #Kn83 &E2 #DKn983 4107
10 4« Kn109762 « E106
v EK87 v K76 v Kn92
¢ EKD2 ¢+ Kn 4 10765
£10862 D74 *EK2
Par  Kontr ut Res Poéang Par  Kontr ut Res Poéang Par  Kontr ut Res Poéang
24 29 3NN+1 v4 630 410 1.0|18 37 3NV-1 *9 50 40.0 2.0|25 30 2NN= v8 120 42.0 0.0
32 21 3NS+1 vT 630 410 1.0|25 30 3NV-1 *6 50 40.0 2.0|43 12 2v O-2 *A 100 40.0 2.0
13 40 4y N= +Q 620 380 4.0(35 20 3NV-1 *5 50 40.0 2011 1 INN= *Q 90 37.0 5.0
27 26 5 N= +Q 600 33.0 9.0|40 15 24 S-1 vA -50 36.0 6.0|39 16 INS= *Q 90 37.0 5.0

Laholms BK, Laholmsguldet 2011-04-02, sida 2 av 9




3NS= Ly 600 33.0 9.0|34 21 3¢ V+1 43 -130 9.0 Pass . 8.0
3NN-= 4Q 600 33.0 9.0|44 6 3¢ V+1 43 -130 . 9.0 3NN-1 v7 -100 .0 16.0
5& N = vT 600 330 90| 9 3 3¢ V+2 43 -150 .0 15.0 3¢ N-1 v7 -100 .0 16.0
3% N +2 4Q 150 27.0 150|11 1 3¢ O+2 43 -150 .0 15.0 SN N-1 v7 -100 .0 16.0
3& N +2 4Q 150 27.0 15.0|13 42 3¢ V+2 43 -150 .0 15.0 3NN-1 v7 -100 .0 16.0
INN +1 4Q 120 23.0 19.0(24 31 3¢ V+2 43 -150 .0 15.0 3N N-1 v8 -100 .0 16.0
INN+1 4Q 120 23.0 19.0|38 17 3NO= s A -400 1.0 21.0 SN N-1 v7 -100 6.0 16.0
4v S-1 s A -100 10.0 32.0|39 16 3NV= 43 -400 1.0 21.0 3NN-1 v3 -100 6.0 16.0
3NN-1 +Q -100 100 32.0| 2 10 3NO+1 aJ -430 9.0 33.0 3NS-2 *Q -200 9.0 33.0
6% S -1 s A -100 100 32.0| 5 7 3NO+1 aT -430 9.0 33.0 3NS-2 3 -200 9.0 33.0
64 N -1 LY -100 10.0 320 8 4 3NO+1 4] -430 9.0 33.0 3NS-2 3 -200 9.0 33.0
3NS-1 43 -100 100 32.0|14 41 3NV +1 43 -430 9.0 33.0 3NN -2 &T -200 9.0 33.0
SNN-1 4Q -100 10.0 32.0|26 29 3NO+1 4] -430 9.0 33.0 3NS-2 *Q -200 9.0 33.0
3NN-1 4Q -100 10.0 32.0|28 27 3NO+1 4] -430 9.0 33.0 3NN -2 *9 -200 9.0 33.0
3N N-1 43 -100 10.0 32.0|32 23 3NO+1 s -430 9.0 33.0 3NS-2 *Q -200 9.0 33.0
SNN-1 +Q -100 10.0 32.0|33 22 3NO+1 L) -430 9.0 33.0 3NS-2 *Q -200 9.0 33.0
3NS-1 45 -100 10.0 32.0|36 19 3NV +1 43 -430 9.0 33.0 3NS-2 &K -200 9.0 33.0
3NS-1 43 -100 10.0 32.0|43 12 3NO+1 s -430 9.0 33.0 3NN -2 v8 -200 9.0 33.0
45 14 43 « KD95
v D862 Ost v5 v 1086
¢ Kn873 Ingen ¢ EKKn +K
29764 #D10986542 76542
4 EKn32 4987 410865 &#KD742 & Kn7 & E863
vE105 v93 vED109 vKn7 vE vKD74
¢+ KD2 + E964 + D94 410532 + ED108765 ¢ Kn932
#EK10 #Kn852 &E3 *K7 #KDKn &E
« KD1064 « EKN9 41042
vKKn74 v K86432 v Kn9532
¢ 105 + 876 *4
D3 &Kn #10983
Kontr Ut Res Poang Par  Kontr Ut Res g Kontr Ut Res
3NV-2 v2 200 42.0 0.0|40 17 54DN= vJ] 550 0.0 6NV -2 s K 100 0.0
3NV-1 a5 100 40.0 2.0|26 31 44D S= &K 510 2.0 3N O +2 a2 -460 2.0
2NV = v6 -120 38.0 4.0|12 2 44DO-3 &J 500 4.0 6¢ V= &K -920 10.0
2NV +1 45 -150 35.0 7.0|35 22 44DO-2 &) 300 6.0 6¢ O= &T -920 10.0
2N O +1 *7 -150 350 7.0| 1 13 44 N= oK 130 13.0 6¢ V= &K -920 10.0
2NV +2 45 -180 32.0 10.0| 3 11 44 N-= &K 130 13.0 6¢ V= +Q -920 10.0
INO +4 s K -210 29.0 13.0| 9 5 44 N-= 4Q 130 13.0 6¢ V= s K -920 10.0
2NV +3 5 -210 29.0 13.0|29 28 3# N+1 s K 130 13.0 6¢ O= &K -920 10.0
3NV = +3 -600 20.0 22.0|39 18 44 N-= &K 130 13.0 6¢ V= *2 -920 10.0
3NV = v6 -600 20.0 22.0|41 16 3 N+1 s K 130 13.0 6¢ O +1 &T -940 25.0
3NV = v6 -600 20.0 22.0|10 4 34 O-2 LN 100 .0 20.0 6¢ V +1 oK -940 25.0
3NV = v2 -600 20.0 22.0|25 32 44 N-1 &K -50 .0 26.0 6¢ V +1 s K -940 25.0
3NO= s A -600 20.0 22.0|27 30 5# N-1 s K -50 .0 26.0 6¢ O +1 s K -940 25.0
3NV = 5 -600 20.0 22.0|34 23 2v N-1 &K -50 .0 26.0 6¢ V +1 oK -940 25.0
3NV = *6 -600 20.0 22.0|36 21 5 N-1 &K -50 6.0 26.0 6¢ V +1 s K -940 25.0
3NV +2 45 -660 8.0 340 (44 7 5&N-1 s K -50 6.0 26.0 6¢ V +1 s K -940 25.0
3NV +2 45 -660 80 340 6 8 54DN-1 &K -100 8.0 34.0 6¢ V +1 2Q -940 25.0
3N O +2 +Q -660 8.0 340(19 38 54DN-1 4K -100 8.0 34.0 6N O = &T -990 35.0
3NV +2 45 -660 8.0 34.0(37 20 54DN-1 4K -100 8.0 34.0 6N O = &T -990 35.0
3NV +2 5 -660 8.0 34015 42 34 O= LN -140 40 38.0 6N O +1 &T -1020 40.0
3NV +3 *7 -690 1.0 41.0|14 43 2v S-3 &K -150 2.0 40.0 6N O +1 &T -1020 40.0
3NV +3 45 -690 1.0 41.0|33 24 54DN-2 &K -300 0.0 42.0 6N O +1 &T -1020 40.0
« Kn9 17 «10 « D986
v DKn986 Nord vE43 vKn108
+Kn Ingen 4642 ¢ E3
#DKn985 #K109654 #EKN106
« E6 1075 92 » ED543 «E73 « Kn104
vE2 v54 vD10752 v Kn96 v EK2 v 643
+ D8643 ¢ EK1097 + KD5 + E1093 ¢ Kn742 ¢ D965
K764 #E102 #Kn83 »7 *742 #953
« KD8432 « KKn876 # K52
vK1073 vK8 v D975
¢ 52 ¢ Kn87 + K108
&3 &ED2 #KD8
Kontr Ut Res Poéng Par Kontr Ut Res g Kontr Ut Res
54RDV-1 &J 400 420 0.0(28 33 3#DN= v4 470 0.0 3NN +1 vA 630 2.0
5¢ O-1 L) 100 380 4.0|17 1 3NS= v2 400 4.0 3N S +1 vA 630 2.0
5¢ V-1 vQ 100 38.0 4.0|39 22 3NS= v5 400 4.0 3N S +1 a7 630 2.0
ANV -1 aJ 100 38.0 4.0|41 20 3NS= v2 400 4.0 3NS= 3 600 10.0
4v N -1 *A -50 32.0 100(44 9 INDN+1 2 280 8.0 3NS= vK 600 10.0
4v N -1 + K -50 32.0 100(12 6 34 O-4 *7 200 12.0 3NS= vK 600 10.0
4v S-1 vA -50 32.0 10.0(36 25 24 O-4 46 200 12.0 3NS= ¢*4 600 10.0
4vDN-1 +A -100 24.0 18.0|42 19 24 O -4 *7 200 12.0 3NN-= vA 600 10.0
4vDN-1 ¢A -100 24.0 18.0|27 34 3# N+1 s A 130 17.0 3& S +1 vA 130 16.0
4vDN-1 ¢A -100 240 18.0|35 26 3# N+1 s A 130 17.0 2N S = *2 120 19.0
54 S-2 vA -100 240 18.0| 8 10 3# N= v6 110 21.0 2N S = *4 120 19.0
4vDN-1 ¢K -100 240 18.0|14 4 3 N-= v6 110 21.0 3NS-1 2 -100 29.0
5vDN-2 ¢K -300 18.0 24.0| 3 15 4v V- oT 100 25.0 3NS-1 ¢+ 4 -100 29.0
5¢ V= vQ -600 10.0 32.0|31 30 24 O-2 49 100 25.0 3NS-1 *2 -100 29.0
3NV = vQ -600 10.0 32.0|29 32 3v O-1 *A 50 29.0 3NS-1 +6 -100 29.0
5¢ V= 3 -600 10.0 32.0|37 24 24 O-1 vK 50 29.0 3NS-1 ¢+ 4 -100 29.0
3NV = v3 -600 10.0 32.0|11 7 3NN-1 *Q -50 32.0 3NS-1 2 -100 29.0
5¢ O= 3 -600 10.0 32.0|21 40 44DN-1 v6 -100 34.0 3NS-1 2 -100 29.0
3NV = LN -600 10.0 32.0| 5 13 24 O= a7 -110 37.0 3NS-1 *4 -100 29.0
5¢ V= *J -600 10.0 32.0|43 18 3¢ O= *7 -110 37.0 44 N -2 v7 -200 40.0
3NV +2 *Q -660 10 41016 2 3v V+1 oT -170 41.0 3NS-2 +4 -200 40.0
3N O +2 a2 -660 1.0 41.0(38 23 2v O+2 aT -170 41.0 3NS-2 *2 -200 40.0
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19 « D1075 20 K9 21 « Kn94
Syd v6 Vast vKn1092 Nord v 1064
ov ¢ D9542 Alla ¢ DKn5 NS +KD74
K64 #EKD3 #DKn10
4984 & Kn62 « EKn8752 44 «ED875 432
v 432 v ED975 vE v K8654 vE3 v KDKn
+ E1063 ¢ K8 ¢ E432 + K107 ¢ EKn10 ¢ 62
D107 #E32 #Kn2 #10976 SEK2 #976543
« EK3 4 D1063 » K106
v KKn108 vD73 v 98752
¢+ Kn7 4986 49853
#Kn985 #3854 L 2]
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
13 7 2¢DO-2 A 500 420 0.0]12 8 2NS= a7 120 42.0 0.0|30 35 44 O-1 *Q 50 42.0 0.0
4 16 2v O-2 +J 200 380 40| 6 14 24 V-1 *A 100 36.0 6.0| 1 21 1e V+3 *Q -170 40.0 2.0
39 24 2v O-2 s A 200 380 4.0(28 35 24 V-1 A 100 360 6.0(14 8 3NO+1 *8 -430 35.0 7.0
40 23 2v O-2 s A 200 38.0 4.0|38 25 24 V-1 *A 100 36.0 6.0|/16 6 3NV+1 *Q -430 350 7.0
28 35 24 N+1 a4 140 340 8.0|42 21 24 V-1 *K 100 36.0 6.0(33 32 3INO+1 *Q -430 350 7.0
6 14 2NN= a2 120 31.0 11.0(43 20 24 V-1 *A 100 36.0 6.0|41 24 3NV +1 K -430 35.0 7.0
32 31 2NS= 49 120 31.0 11.0|22 41 INN= v4 90 29.0 13.0| 2 20 3NV +2 vT -460 17.0 25.0
15 5 24 N= *A 110 26.0 16.0(29 34 INN-= a4 90 29.0 13.0| 5 17 3NV +2 ] -460 17.0 25.0
37 26 24 N= *2 110 26.0 16.0|17 3 24 O= +Q 90 26.0 16.0( 7 15 3NV +2 + K -460 17.0 25.0
38 25 24 N= *A 110 260 16.0| 1 19 INN-1 v3 -100 19.0 23.0|10 12 3NO+2 v2 -460 17.0 25.0
18 2 INO-1 vT 100 220 200|15 5 INN-1 v5 -100 19.0 23.0|13 9 3NV +2 *Q -460 17.0 25.0
22 41 INS= +6 90 18.0 24.0|18 2 2NS-1 +3 -100 19.0 23.0(19 3 3NV +2 *Q -460 17.0 25.0
36 27 INS= 48 90 18.0 24.0|{36 27 2NN-1 a4 -100 19.0 23.0|23 42 3NV +2 + K -460 17.0 25.0
43 20 INS= +6 90 18.0 24.0|37 26 3NS-1 45 -100 19.0 23.0|31 34 3NO+2 v7 -460 17.0 25.0
1 19 24 N-1 *3 -50 9.0 33.0(39 24 2NN-1 v4 -100 19.0 23.0(37 28 3NV +2 + K -460 17.0 25.0
9 11 24 N-1 ¢+ K -50 9.0 33.0(30 33 24 V= s A -110 12.0 30.0|38 27 3NV +2 *Q -460 17.0 25.0
12 8 3NS-1 v4 -50 9.0 330 4 16 2NS- 45 -200 9.0 33.0(39 26 3NV +2 *Q -460 17.0 25.0
17 3 24 N-1 vA -50 9.0 330 9 11 3NS-2 46 -200 9.0 33.0(40 25 3NV +2 + K -460 17.0 25.0
29 34 3¢ N-1 46 -50 9.0 33.0(32 31 3NN-3 +3 -300 6.0 36.0 (43 22 3NV +2 *Q -460 17.0 25.0
44 10 INN-1 v3 -50 9.0 33.0(40 23 3#S-4 vA -400 40 38.0(44 11 3NO +2 v2 -460 17.0 25.0
42 21 2NS-2 v4 -100 20 400(13 7 3#N-5 a4 -500 2.0 40.0|18 4 3NV +3 + K -490 2.0 40.0
30 33 44 N-3 *A -150 0.0 42.0(44 10 3yDN-3 4A -800 0.0 42.0(29 36 6# 0= +5 -920 0.0 42.0
22 «E6 23 4943 24 «D9
Ost v D985 Syd v K652 Vast vK
oV +92 Alla ¢+ E874 Ingen + D97654
#KD1094 £98 #K1095
4 D95 & KKn32 4 D86 & KKn72 4 K7653 4 Kn82
v1043 vE2 vEKn874 ¥D10 vE2 v D98764
¢+ K104 ¢ DKn63 + Kn + K32 + K82 4103
#Kn762 #E85 #Kn1032 #EK65 &E72 #383
10874 « E105 «E104
v KKn76 v93 v Kn1053
+ E875 + D10965 ¢ EKn
&3 D74 #DKn64
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
13 9 2v S+2 v3 170 410 1.0| 1 23 3NO-2 +9 200 30.0 12.0|15 9 3NS+1 *2 430 42.0 0.0
14 8 3v N+1 +Q 170 410 10| 2 22 3NO-2 +9 200 30.0 12.0| 3 21 3NS= 45 400 38.0 4.0
7 15 2v N+1 +Q 140 350 7.0| 8 16 3NO-2 *T 200 30.0 12.0|30 37 3NS= 43 400 38.0 4.0
16 6 2v S+1 *6 140 350 7.0|11 13 3NO-2 ¢+ 4 200 30.0 12.0|38 29 3NS= a2 400 38.0 4.0
19 3 3vS= v3 140 350 7.0|14 10 3NO-2 +5 200 30.0 12.0| 8 16 34 V-3 +6 150 33.0 9.0
38 27 3v N= vA 140 350 7.0|17 7 3NO-2 +6 200 30.0 12.0|31 36 34 V-3 *9 150 33.0 9.0
5 17 2v N= +Q 110 27.0 150(19 5 3NO-2 +5 200 30.0 12.0| 1 23 3¢ N+1 48 130 28.0 14.0
29 36 2v N= 43 110 27.0 15020 4 3NO-2 +5 200 30.0 12.0|32 35 44 S= 43 130 28.0 14.0
39 26 2# S+1 a5 110 27.0 15024 43 3NO-2 +5 200 30.0 12.0|34 33 3¢ N+1 *8 130 28.0 14.0
44 11 2v S= vA 110 27.0 15032 35 3NO-2 +6 200 30.0 12.0| 2 22 2¢ N+1 8 110 19.0 23.0
2 20 INO-1 v7 100 20.0 22038 29 3NO-2 +6 200 30.0 12.0|11 13 3¢ N= 43 110 19.0 23.0
18 4 INO-1 v7 100 20.0 22.0|39 28 3NO-2 +9 200 30.0 12.0|19 5 3¢ N= a2 110 19.0 23.0
43 22 2NO-1 v7 100 20.0 22.0(41 26 44 O-2 +5 200 30.0 12.0|24 43 3¢ N= +3 110 19.0 23.0
23 42 2 N= 3 90 150 27.0|31 36 2NO-1 +5 100 140 28.0|39 28 3¢ N= a2 110 19.0 23.0
33 32 2 N= v3 90 15.0 27.0|34 33 3NO-1 *T 100 14.0 28.0|42 25 3¢ N= a2 110 19.0 23.0
10 12 3v N-1 +6 -50 11.0 31.0(40 27 44 O-1 +J 100 14.0 28.0(44 12 34 V-2 +3 100 12.0 30.0
40 25 2 N-1 vA -50 11.0 31.0(42 25 34 0= +5 -110 10.0 32.0|14 10 2v O-1 +5 50 10.0 32.0
30 35 INO= v7 -90 70 350 6 18 2NO= +5 -120 8.0 340| 6 18 3NS-1 *2 -50 7.0 35.0
41 24 INO= a7 -90 7.0 350 321 3vO= +9 -140 6.0 36.0(41 26 4¢ N-1 4] -50 7.0 35.0
31 34 INO+1 a7 -120 4.0 38.0(30 37 2v O+2 +9 -170 40 380(17 7 3NS-2 *2 -100 4.0 38.0
121 INDO= v7 -180 20 40015 9 4vO= v3 -620 1.0 41.0|40 27 2v V= +5 -110 2.0 40.0
37 28 INDO+1 &7 -380 0.0 42.0(44 12 44 O= 43 -620 1.0 41.0|/20 4 3NS-3 45 -150 0.0 42.0
25 21076 26 » K9632 27 « KKn974
Nord v E42 Ost vKKn Syd v 985
oV ¢ ED954 Alla + K Ingen ¢ D52
&ED & EKn954 K10
&« Kn & EK52 «ED84 4Kn5 4105 » E863
vK8 v Kn1096 vD643 v1092 vE64 v KDKn103
¢ KKn1083 +¢2 + D97 ¢ E10542 + E96 + 107
#K9762 #Kn1054 2106 #KD8 #EKN983 &#D5
4« D9843 107 «D2
v D753 v E875 v72
¢+ 76 ¢ Kn863 ¢ KKn843
#83 732 #7642
Par  Kontr ut Res Poéang Par  Kontr ut Res Poéang Par  Kontr ut Res Poéang
9 17 2¢DO-2 &7 500 420 0.0| 9 17 3¢DO-1 T 200 39.0 3.0|40 31 4v V-1 2 50 41.0 1.0
7 19 3NN+1 vJ 430 40.0 2.0|12 14 2¢DO-1 T 200 39.0 3.0|43 28 4v O-1 4Q 50 41.0 1.0
42 27 24 O-3 *8 300 380 4.0|18 8 2NV-2 *4 200 39.0 3.0(13 15 2¢v O+1 4Q -140 38.0 4.0
21 5 24 N+3 &K 200 36.0 6.0|41 28 3¢ O-2 *3 200 39.0 3.0|44 14 3v O+l 2 -170 36.0 6.0
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3 23 24 N+1 2 140 33.0 9.0|/40 29 3 N= v2 110 33.0 9.0|36 35 2NV +3 v9 -210 34.0 8.0
40 29 24 S+1 *T 140 33.0 9.0{44 13 24 N= *K 110 330 9.0(19 9 4v 0= 4 Q -420 31.0 11.0
2 24 24 S= *T 110 26.0 16.0| 2 24 2¢ O-1 aT 100 30.0 12.0(41 30 4v O= +3 -420 31.0 11.0
4 22 24 N= 2 110 26.0 16.0| 3 23 14 N= *K 80 23.0 19.0| 1 27 4v V+1 Ly -450 14.0 28.0
31 38 24 S= 4] 110 26.0 16.0|16 10 14 N= vT 80 23.0 190 3 25 4v O+1 *4 -450 14.0 28.0
35 34 24 N= *2 110 260 16.0|21 5 1a N= v6 80 23.0 190 4 24 4v O+1 4Q -450 14.0 28.0
41 28 24 N= vJ] 110 26.0 16025 1 14 N= ] 80 23.0 19.0| 5 23 4v O +1 v2 -450 14.0 28.0
25 1 2NV-1 46 100 20.0 22.0|31 38 14 N= *K 80 23.0 19.0( 8 20 4v O+1 4Q -450 14.0 28.0
12 14 24 S-1 vK -50 16.0 26.0(39 30 1a N= v2 80 23.0 19.0|10 18 4v O+1 4Q -450 14.0 28.0
20 6 24 S-1 +3 -50 16.0 260 4 22 2¢ O= aT -90 15.0 27.0(16 12 4y O+1 4Q -450 14.0 28.0
43 26 34 S-1 *2 -50 16.0 26.0 (42 27 24 O= aT -90 15.0 27.0(17 11 4v O+1 4Q -450 14.0 28.0
15 11 34DN-1 ¢2 -100 8.0 34.0(15 11 14 N-1 vT -100 10.0 32.0(21 7 4v O+1 4Q -450 14.0 28.0
18 8 34 N-2 vJ] -100 8.0 340(20 6 3&#N-1 vT -100 10.0 32.0|22 6 4v V+1 +3 -450 14.0 28.0
33 36 34 N-2 vK -100 8.0 34.0(33 36 24 N-1 43 -100 10.0 32.0|26 2 4v V+1 v9 -450 14.0 28.0
39 30 34DS-1 & -100 8.0 34.0(35 34 34DN-1 ¥9 -200 5.0 37.0(32 39 4y O +1 +3 -450 14.0 28.0
44 13 34 S-2 *T -100 8.0 34.0(43 26 24 N-2 vT -200 5.0 37.0(33 38 4y O +1 43 -450 14.0 28.0
32 37 2NN-3 ] -150 20 400 7 19 24 N-3 vT -300 2.0 40.0(34 37 4y O+1 4 Q -450 14.0 28.0
16 10 3#DO = v4 -670 0.0 42.0(32 37 34aDN-3 T -800 0.0 42.0(42 29 4v V+1 v5 -450 14.0 28.0
28 # EK5 29 « Kn3 30 « EDKn73
Vast v43 Nord v D8764 Ost v 107
NS ¢ K9743 Alla + DKn963 Ingen ¢ Kn752
&753 &D £82
4 DKn983 #1062 4 KD10987 4652 410952 & K84
vEKn876 vK109 v K10 v9 v KD6 v 98543
¢ EKn2 + 105 ¢ 107 + EK52 +8 + EK6
»- #KKn1098 #EKn6 #K10543 #Kn10543 #D6
474 «E4 46
v D52 v EKn532 v EKn2
+ D86 + 84 ¢+ D10943
&ED642 #9872 &EK97
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
36 35 44 V-2 LY 100 420 0.0]| 1 29 44 V= *Q -620 36.0 6.0|20 10 3vyDO-3 &A 500 42.0 0.0
4 24 4o V-1 s A 50 340 8.0(11 19 44 O= *Q -620 36.0 6.0| 2 28 3¢ S+1 vK 130 36.0 6.0
10 18 44 O-1 v4 50 340 8.0|17 13 44 V= *Q -620 36.0 6.0|11 19 3¢ N+1 vK 130 36.0 6.0
13 15 44 V-1 s A 50 340 8.0|20 10 44 V= *Q -620 36.0 6.0|18 12 4¢ S= vK 130 36.0 6.0
19 9 44 V-1 v4 50 340 8.0|35 38 44 V= *Q -620 36.0 6.0|33 40 3¢ N+1 v3 130 36.0 6.0
32 39 44 V-1 v4 50 340 8.0|42 31 44 V= +J -620 36.0 6.0|42 31 4¢ S= vK 130 36.0 6.0
34 37 4v V-1 &K 50 34.0 8.0|44 15 44 V= *Q -620 36.0 6.0 1 29 3NS-1 vK -50 21.0 21.0
42 29 44 V-1 s A 50 340 8.0 2 28 44 O+1 +Q -650 16.0 26.0| 4 26 3NS-1 vK -50 21.0 21.0
16 12 34 V= v4 -140 25.0 17.0| 4 26 44 V+1 v7 -650 16.0 26.0| 5 25 5¢ S-1 vQ -50 21.0 21.0
21 7 24 V+1 v3 -140 25.0 17.0| 5 25 44 V+1 +J -650 16.0 26.0|22 8 4¢ S-1 vK -50 21.0 21.0
8 20 24 V+2 *4 -170 19.0 23.0| 6 24 44 V+1 *Q -650 16.0 26.0(23 7 3NS-1 vK -50 21.0 21.0
17 11 34 V+1 +3 -170  19.0 23.0| 9 21 44 V+1 *Q -650 16.0 26.0|35 38 3NS-1 vQ -50 21.0 21.0
40 31 34 V+1 +3 -170  19.0 23.0|14 16 44 V+1 +Q -650 16.0 26.0|37 36 34 N-1 *A -50 21.0 21.0
43 28 24 V +2 *7 -170 19.0 23.0(18 12 44 V+1 *Q -650 16.0 26.0 (41 32 3NS-1 vK -50 21.0 21.0
22 6 4¢ N-2 45 -200 140 28.0|22 8 44 V+1 *Q -650 16.0 26.0|43 30 3NS-1 vK -50 21.0 21.0
1 27 44 V= s A -420 7.0 35023 7 44 V+1 *Q -650 16.0 26.0|44 15 5¢ S-1 vK -50 21.0 21.0
3 25 44 V= +3 -420 7.0 35.0(27 3 4e V+1 *Q -650 16.0 26.0| 6 24 44 N-2 *A -100 9.0 33.0
5 23 44 V= v3 -420 7.0 35.0(34 39 4a V+1 +J -650 16.0 26.0| 9 21 5¢DS-1 ¢K -100 9.0 33.0
26 2 44 V= v4 -420 7.0 35.0(37 36 44 V+1 *Q -650 16.0 26.0|17 13 44 N-3 ¢+ A -150 6.0 36.0
41 30 44 V= +3 -420 7.0 35.0(43 30 44 V+1 *Q -650 16.0 26.0|14 16 5¢ N-4 v3 -200 40 38.0
44 14 44 V= v4 -420 7.0 35.0(33 40 44DO= *Q -790 20 40027 3 5¢DS-2 +8 -300 1.0 41.0
33 38 44 O+1 43 -450 0.0 42.0(41 32 5vDS-3 4K -800 0.0 42.0(34 39 4¢DS-2 vK -300 1.0 41.0
31 « K1074 32 +E 33 984
Syd vKD3 Vast v ED54 Nord vE963
NS + KD85 ov ¢ E2 Ingen *4
&EK #K109752 #KKn965
# EKN963 & D52 465 &« DKn9732 « EKDKNG63 475
v 642 v Kn109875 v K8 v9 vKD10 v Kn8
4943 ¢+ Kn7 + DKn98753 ¢ 1064 4852 + EKDKn10
*72 #96 *64 #EKn8 *3 #D1084
48  K1084 102
vE vKn107632 v 7542
¢ E1062 ¢+ K 49763
#DKn108543 D3 &E72
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng
2 30 7¢ N= ¢7 2140 420 0.0(43 32 34DV-4 +J 1100 420 00| 1 33 3NO= v7 -400 42.0 0.0
3 29 6NN +1 vJ 1470 32.0 10.0|23 9 6v S+1 42 1010 40.0 2.0|11 23 3NO+1 v5 -430 38.0 4.0
6 26 6NN +1 vJ 1470 32.0 10.0|10 22 6v S= +Q 980 37.0 5.0|35 42 3NO+1 v4 -430 38.0 4.0
7 25 6NN +1 v8 1470 32.0 10.0|24 8 6v N= *T 980 37.0 5.0|44 17 ANV = »5 -430 38.0 4.0
18 14 6NN +1 vJ 1470 32.0 10.0|12 20 24D O-3 +¢K 800 34.0 8.0|37 40 44 O+1 vA -450 34.0 8.0
21 11 6NN +1 vJ 1470 32.0 10.0|34 41 4v S+3 46 510 320 10.0| 6 28 3NV +2 *5 -460 30.0 12.0
36 39 6NS+1 43 1470 32.0 10.0| 3 29 4v S+2 46 480 22.0 20.0(13 21 3NV +2 »5 -460 30.0 12.0
42 33 6NN +1 vJ 1470 32.0 10.0| 6 26 5v S+1 46 480 22.0 20.0|43 34 3NO+2 oT -460 30.0 12.0
43 32 6NN +1 vJ 1470 32.0 10.0| 7 25 4v S+2 46 480 22.0 20.0| 2 32 54 V+1 vA -480 13.0 29.0
44 16 6NN +1 v3 1470 32.0 10.0 (15 17 4v S+2 *6 480 220 20.0| 3 31 4e V+2 ¢*4 -480 13.0 29.0
1 31 6NN= 42 1440 16.0 26.0|18 14 4y N+2 +Q 480 22.0 20.0| 4 30 54 O+1 *4 -480 13.0 29.0
10 22 6NN = 42 1440 16.0 26.0(21 11 5v S+1 46 480 22.0 20.0| 7 27 54 V+1 +4 -480 13.0 29.0
12 20 6N S= A 1440 16.0 26.0|28 4 4v S+2 46 480 22.0 20.0| 8 26 44 V+2 ¢*4 -480 13.0 29.0
19 13 6NN = &5 1440 16.0 26.0 |35 40 4v S+2 +Q 480 22.0 20.0|16 18 4e V+2 *4 -480 13.0 29.0
23 9 6NN= 43 1440 16.0 26.0(38 37 4y S+2 v3 480 22.0 20.0(19 15 54 V +1 vA -480 13.0 29.0
24 8 6NN= 42 1440 16.0 26.0| 1 31 3NN+2 +3 460 11.0 31.0|20 14 54 V+1 *4 -480 13.0 29.0
38 37 6NN= 42 1440 16.0 26.0| 2 30 3NN +2 +3 460 11.0 31.0(22 12 44 V+2 *4 -480 13.0 29.0
28 4 6¢ N= vJ 1370 7.0 350 5 27 4v S+1 ¢+ Q 450 4.0 38.0(24 10 4e V+2 +4 -480 13.0 29.0
35 40 6% S= A 1370 7.0 35.0(19 13 4v N+1 ¢+ 4 450 40 38.0(25 9 4e V+2 *4 -480 13.0 29.0
5 27 3NN+4 vJ] 720 40 38.0(36 39 5v S= 46 450 40 38.0(29 5 44 V+2 *4 -480 13.0 29.0
15 17 3NN +3 a2 690 1.0 41.0|42 33 4v S+1 *6 450 4.0 38.0(36 41 4e V+2 +4 -480 13.0 29.0
34 41 3NN+3 a2 690 1.0 41.0|44 16 4v S+1 46 450 40 38.0(39 38 4e V+2 *4 -480 13.0 29.0
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34 a2 35 « KKn93 36 « E1087
Ost v K43 Syd v D85 Vast v KKn104
NS + KKn10962 ov + D986 Alla ¢ 54
#E95 #86 &ED7
4 ED7654 493 4 E82 » 107 « D64 & KKn52
v- vED762 vK2 v EKn1074 v 65 v D873
+ D54 ¢ E73 ¢E107 #42 ¢ EKDKN2 ¢7
#8742 #KD10 #EKD95 #Knl1074 642 #KKn109
« KKn108 « D654 493
v Kn10985 v 963 vE92
+8 ¢ KKn53 4 109863
#Kn63 32 #3853
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
44 17 64D O-3 +8 500 420 0.0]| 1 35 3NV= +8 -600 40.0 2.0| 4 32 34 O-2 vA 200 40.0 2.0
13 21 3NO-3 +8 150 40.0 2.0|12 24 3NV= +8 -600 400 20| 7 29 2v O-2 49 200 40.0 2.0
8 26 3NV-2 v3 100 370 5.0(21 15 3NV= 46 -600 40.0 20|12 24 3NO-2 v2 200 40.0 2.0
20 14 44 V-2 a2 100 37.0 5.0|38 41 4v V+1 8 -650 36.0 6.0| 2 34 2NV-1 a7 100 28.0 14.0
25 9 44 0-1 +8 50 33.0 9.0| 2 34 3NO+2 49 -660 28.0 14.0| 3 33 24 V-1 a7 100 28.0 14.0
36 41 44 O-1 +8 50 330 9.0 3 33 3NV +2 +8 -660 28.0 14.0| 5 31 2¢ V-1 *4 100 28.0 14.0
29 5 24 V= *5 -110 29.0 13.0| 5 31 3NV +2 +6 -660 28.0 14.0|14 22 3NO-1 v2 100 28.0 14.0
39 38 24 V= v4 -110 29.0 13.0| 9 27 3NV +2 +8 -660 28.0 14.0|26 10 3¢ V-1 48 100 28.0 14.0
3 31 3aV= *T -140 22.0 20.0|17 19 3NV +2 +8 -660 28.0 14.0|30 6 2¢ V-1 +5 100 28.0 14.0
4 30 34 V= *A -140 22.0 20.0|25 11 3NV +2 +6 -660 28.0 14.0|36 43 INV-1 vT 100 28.0 14.0
22 12 24 V+1 +J -140 22.0 20.0|44 18 3NV +2 43 -660 28.0 14.0|38 41 24 V-1 ¢+ 4 100 28.0 14.0
35 42 24 V+1 a2 -140 22.0 20.0|14 22 4y O +2 #3 -680 18.0 24.0|40 39 INV-1 48 100 28.0 14.0
37 40 24 V+1 +Q -140 22.0 20.0|30 6 4v O+2 3 -680 18.0 24.0|21 15 INO= a7 -90 15.0 27.0
1 33 24 V+2 *T -170  15.0 27.0|40 39 4v V+2 +8 -680 18.0 24.0|23 13 INV= a7 -90 15.0 27.0
11 23 24 O +2 *T -170 15.0 27.0| 4 32 3NV +3 +6 -690 8.0 34.0(25 11 INV= a7 -90 15.0 27.0
43 34 2¢DN-1 #Q -200 12.0 30.0| 7 29 3NV +3 *8 -690 8.0 34.0(44 18 2¢ V= +5 -90 15.0 27.0
6 28 44 O= v] -420 8.0 340 8 28 3NV +3 +6 -690 8.0 340(20 16 3¢ V= vT -110 10.0 32.0
7 27 44 O= vJ -420 8.0 34.0(20 16 3NV +3 v5 -690 8.0 340 1 35 INV+1 48 -120 6.0 36.0
19 15 44 V= *A -420 8.0 34.0(26 10 3NV +3 +9 -690 8.0 340 8 28 2NO= v9 -120 6.0 36.0
16 18 2¢DN-2 9 -500 40 38.0[(36 43 3NV +3 *8 -690 8.0 340 9 27 INV+1 48 -120 6.0 36.0
2 32 44DV= v3 -590 2.0 40.0(37 42 3NV +3 +8 -690 8.0 34.0(37 42 2NV +1 s A -150 2.0 40.0
24 10 3¢DN-4 49 -1100 0.0 42.0(23 13 3NV +4 6 -720 0.0 42.0(17 19 2¢DS-2 +A -500 0.0 42.0
37 K642 38 « K92 39 « E106
Nord v 763 Ost v K10 Syd v E9653
NS ¢ 104 ov ¢ Kn2 Alla ¢ED
#Kn1083 #EKD762 *E32
a- & DKn98753 4 EB83 4 DKnl065 432 & Kn7
vKDKn9542 v- v6542 v EKn97 vKD108 vKn72
¢ E532 + DKn876 + D654 873 ¢ 103 + K9642
D2 *7 2108 &5 #108754 &KDKn
«E10 474 « KD9854
vE108 v D83 va
+ K9 + EK109 ¢ Kn875
#EK9654 #Kn943 £96
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
9 29 44D0O-4 &A 800 420 0.0 6 32 3NN+1 4Q 430 390 3.0( 6 34 64 S= vQ 1430 42.0 0.0
41 40 3ND S = vK 750 40.0 2.0|18 20 3NN+1 4Q 430 39.0 3.0| 5 35 44 S+2 vK 680 36.0 6.0
18 20 44D O-2 #A 300 38.0 4.0|24 14 3NN+1 4Q 430 39.0 3.0|14 26 44 S+2 vK 680 36.0 6.0
38 43 44 S+1 vK 150 36.0 6.0|39 42 3NN+1 aJ 430 39.0 3.0|28 12 44 N+2 v2 680 36.0 6.0
3 35 4vyDV-1 &) 100 33.0 9.0| 2 36 3NN= +Q 400 21.0 21.0(38 2 44 S+2 vK 680 36.0 6.0
24 14 5¢DO-1 &A 100 33.0 9.0| 3 35 3NN= 4Q 400 21.0 21.0|40 43 44 S+2 vK 680 36.0 6.0
39 42 5¢ O-1 *K 50 30.0 12.0| 8 30 3NN= 4Q 400 21.0 21.0| 3 37 44 S+1 vK 650 15.0 27.0
26 12 4¢ O+1 *A -150 28.0 14.0| 9 29 3NN= +Q 400 21.0 21.0| 4 36 44 S+1 *T 650 15.0 27.0
13 25 3v V+1 *T -170 25.0 17.0|13 25 3NN= ] 400 21.0 21.0| 7 33 44 N+1 *K 650 15.0 27.0
21 17 34 O+1 *K -170 25.0 17.0|15 23 5 N= 4Q 400 21.0 21.0| 9 31 44 N+1 *K 650 15.0 27.0
15 23 5 S-2 vK -200 20.0 22.0|21 17 3NN= +Q 400 21.0 21.0|10 30 44 N+1 *K 650 15.0 27.0
27 11 54DS-1 ¢K -200 20.0 22.0|22 16 5# S= +5 400 21.0 21.0|11 29 44 N+1 *K 650 15.0 27.0
37 1 5S-2 vK -200 20.0 22.0|26 12 3NN= 45 400 21.0 21.0|16 24 44 N+1 v2 650 15.0 27.0
31 7 5#S-3 vK -300 16.0 26.0|31 7 3NN= +Q 400 21.0 21.0(19 21 44 N+1 *K 650 15.0 27.0
5 33 44 O= LY -420 140 28.0|37 1 3NN= 4Q 400 21.0 21.0|22 18 44 S+1 vK 650 15.0 27.0
44 19 54DN-2 ¢K -500 12.0 30.0|38 43 3NN= 45 400 21.0 21.0(23 17 44 S+1 vK 650 15.0 27.0
2 36 5¢DV= *J -550 10.0 32.0|41 40 3NN= +Q 400 21.0 21.0(25 15 44 S+1 +3 650 15.0 27.0
4 34 44DO= *K -590 40 38.0(44 19 3NN= 4Q 400 21.0 21.0(27 13 44 S+1 vK 650 15.0 27.0
6 32 4vDV= *T -590 40 38.0| 5 33 4& N +2 4Q 170 6.0 36.0(32 8 44 S+1 vK 650 15.0 27.0
8 30 44DO= *A -590 40 38.0| 4 34 3&N+2 aJ 150 40 38.0(39 1 44 S+1 vK 650 15.0 27.0
10 28 44DO= *A -590 40 38.0(10 28 3NN-1 4 Q -50 1.0 41.0|42 41 44 S+1 vK 650 15.0 27.0
22 16 44DO= *A -590 40 38.0(27 11 3NN-1 4Q -50 1.0 41.0|44 20 44 S+1 *T 650 15.0 27.0
40 4 E1043 41 « D86 42 « KD1093
Vast vK7 Nord vD1043 Ost v42
Ingen 4 9865 oV 97 Alla ¢ 105
&EKn2 &E1073 £D1098
4 KKn7 &D852 &« Kn9 4102 4 Kn8764 45
v10982 vD4 vEK87 ¥Kn62 v K963 v EKn875
+E4 + DKn1073 ¢ E6542 ¢ DKn3 ¢+ ED9 + Kn632
210864 #73 #52 #KD984 &6 #753
496 « EK7543 4 E2
v EKn653 v95 v D10
* K2 + K108 + K874
#KD95 #Kn6 #EKKn42
Par  Kontr ut Res Poéang Par  Kontr ut Res Poéang Par  Kontr ut Res Poéang
14 26 4v S+1 ¢ A 450 42.0 0.0|20 22 24 S+2 vA 170 42.0 0.0|33 9 3NN+2 v3 660 42.0 0.0
3 37 3NN+1 +Q 430 340 8.0| 6 36 34 S= vA 140 39.0 3.0|17 25 3NN= a7 600 40.0 2.0
16 24 3NS+1 *6 430 340 80| 7 35 34 S= vA 140 39.0 3.0(44 21 14DV-1 &K 200 38.0 4.0
23 17 3NN+1 +Q 430 340 8.0| 4 38 24 S= vA 110 29.0 13.0| 7 35 24 N+2 45 170 36.0 6.0
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38 2 3NN+1 +Q 430 340 8.0|11 31 24 N= vA 110 29.0 13.0(10 32 24 N+1 vA 140 34.0 8.0
39 1 3NN+1 ¢+ Q 430 340 8.0|12 30 24 S= *5 110 29.0 13.0(23 19 24 N= +3 110 31.0 11.0
40 43 3NS+1 vT 430 340 8.0|23 19 24 S= *6 110 29.0 13.0|28 14 3#S= v3 110 31.0 11.0
44 20 3NN +1 ¢ A 430 340 8.0|24 18 24 S= vA 110 29.0 13.0| 4 38 3NN-1 v5 -100 26.0 16.0
5 35 3NN= ¢+ Q 400 19.0 23.0(33 9 24 N= 43 110 29.0 13.0|15 27 44 S-1 v6 -100 26.0 16.0
6 34 3NN-= +J 400 19.0 23.0{40 2 24 S= vA 110 29.0 13.0|26 16 4#S-1 v6 -100 26.0 16.0
9 31 3NN= +Q 400 19.0 23.0|43 42 24 S= vK 110 29.0 13.0|20 22 3y O+1 s A -170  22.0 20.0
10 30 3NS= *5 400 19.0 230| 8 34 34 S-1 vA -50 13.0 29.0(12 30 44 N-2 +3 -200 19.0 23.0
22 18 3NN= +Q 400 19.0 23.0|{10 32 34 S-1 vA -50 13.0 29.0(24 18 44 N-2 vA -200 19.0 23.0
25 15 3NN= ¢+ Q 400 19.0 23.0|17 25 34 N-1 vA -50 13.0 29.0( 5 37 3NS-3 v6 -300 12.0 30.0
27 13 3NN= ¢+ Q 400 19.0 23.0(28 14 3NS-1 *5 -50 13.0 29.0( 8 34 34 N-3 vA -300 12.0 30.0
32 8 3NN= +Q 400 19.0 23.0({29 13 44 S-1 vA -50 13.0 29.0(11 31 3NN-3 v5 -300 12.0 30.0
4 36 3NN-1 ¢+ Q -50 50 37.0(39 3 34 S-1 vA -50 13.0 29.0(29 13 3NN-3 v5 -300 12.0 30.0
7 33 3NN-1 +Q -50 50 37.0(41 1 34S-1 vA -50 13.0 29.0(39 3 3NN-3 v5 -300 12.0 30.0
11 29 3NN-1 *6 -50 50 37.0(44 21 34 N-1 »5 -50 13.0 290 6 36 44 N-4 vA -400 5.0 37.0
19 21 4y N-1 3 -50 50 370 5 37 34DS-1 K -100 20 40.0(40 2 44 N-4 vA -400 5.0 37.0
28 12 3NN-1 ¢+ Q -50 5.0 37.0(15 27 34DS-1 ©vA -100 2.0 40.0(43 42 3NN-5 v5 -500 2.0 40.0
42 41 3NN-1 +Q -50 50 37.0(26 16 34 S-2 vA -100 20 400(41 1 44DN-4 ¢3 -1100 0.0 42.0
43 « EKKn 44 # K65 45  Kn965
Syd v EKn9 Vast v E832 Nord v8
Ingen 498652 NS 4432 Alla + D962
D8 #Kn109 #E986
«D8654 410732 4Knl03 4E8 4K & E843
vD10632 v87 vKD76 v1094 v73 v ED954
¢+ KD +Kn73 + E96 +D1075 ¢ E10753 ¢ Kn
&4 #E952 #865 #E432 #K10742 #DKn5
49 « D9742 « D1072
v K54 vKn5 v KKn1062
¢+ E104 + KKn8 + K84
#KKn10763 #KD7 &3
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
25 19 34DV-7 &K 1700 420 0.0|12 32 24aRDS= ¢K 840 42.0 0.0|19 27 5#V-4 46 400 42.0 0.0
8 36 54DV-4 +8 800 40.0 20| 8 36 3vDV-3 &J 500 400 20| 2 1 3sV-2 46 200 38.0 4.0
40 4 44DV-3 &A 500 380 4.0| 7 37 3vO-3 a2 150 370 50| 8 38 4vDO-1 44 200 38.0 4.0
1 43 3NN+3 v8 490 21.0 21030 14 3¢ O-3 45 150 370 5.0|25 21 2v O-2 3 200 38.0 4.0
5 39 3NN+3 43 490 21.0 21.0(40 4 24 S+1 vK 140 340 8.0)13 33 3NO-1 a7 100 30.0 12.0
7 37 3NN+3 43 490 21.0 21.0|11 33 24 N= 43 110 27.0 15.0(30 16 3NV-1 v8 100 30.0 12.0
9 35 3NN+3 43 490 21.0 21.0|13 31 24 S= 43 110 27.0 15031 15 2NV-1 45 100 30.0 12.0
11 33 3NN+3 v8 490 21.0 21.0|18 26 24 S= LN 110 27.0 150(41 5 3NO-1 a7 100 30.0 12.0
12 32 3N S+3 v3 490 21.0 21.0|21 23 24 S= 43 110 27.0 15.0(44 23 3NO-1 3 100 30.0 12.0
13 31 3NN+3 v8 490 21.0 21.0|34 10 24 S= 43 110 27.0 150| 6 40 34 0= 3 -110 22.0 20.0
16 28 3NN +3 2 490 21.0 21.0|42 2 24 S= a2 110 27.0 150| 7 39 34 0= 46 -110 22.0 20.0
21 23 3NN+3 46 490 21.0 21041 3 3¢ O-2 a2 100 20.0 22028 18 34O = 3 -110 22.0 20.0
24 20 3NN +3 43 490 21.0 210| 1 43 INS= vK 90 17.0 25.0|10 36 INO+1 46 -120 16.0 26.0
27 17 3NN+3 49 490 21.0 21.0|29 15 INN= *2 90 17.0 25.0(35 11 INV+1 46 -120 16.0 26.0
29 15 3N N+3 a2 490 21.0 210| 6 38 3#0-1 a2 50 12.0 30.0|42 4 2NO= a7 -120 16.0 26.0
30 14 3N N+3 v8 490 21.0 21.0|16 28 3¢ O-1 a2 50 12.0 30.0|12 34 1y O+2 a7 -140 11.0 31.0
34 10 3NN +3 43 490 21.0 21.0(44 22 340-1 a2 50 12.0 30022 24 3v O= *2 -140 11.0 31.0
41 3 3NN+3 43 490 21.0 210| 5 39 24 S-1 *8 -100 50 37.0(43 3 INV+2 46 -150 8.0 34.0
44 22 3NN +3 43 490 21.0 21.0| 9 35 INN-1 *7 -100 50 37.0(17 29 24DN-1 ¢J -200 5.0 37.0
6 38 3NN +2 a7 460 3.0 39.0(25 19 24 S-1 »5 -100 50 37.0(26 20 2y O +3 a7 -200 5.0 37.0
42 2 3NN+2 L) 460 3.0 39.0(27 17 INN-1 +6 -100 50 37.0(14 32 3NV= +6 -600 2.0 40.0
18 26 44 V-3 LY 150 0.0 42.0(24 20 34 S-2 vK -200 0.0 420 9 37 3NO+1 v2 -630 0.0 42.0
46 « D984 47 « DKn742 48 4« Kn1043
Ost v75 Syd v 64 Vast vD104
Ingen + EDKn10 NS *2 ov + 84
#EKn6 #E10943 &EK92
4652 #E3 a9 » EK103 « E96 4752
vD932 vEKn106 vKDKn1032 v95 vKn652 vE73
+93 465 ¢ K1043 + EDKn65 +10 + KD762
#K954 £D10832 *K6 #Kn2 #D10764 %83
« KKn107 4 865 « KD8
v K84 v E87 v K98
¢ K8742 ¢ 987 ¢ EKn953
&7 £D875 #Kn5
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng
8 38 3NDN+1 3 650 420 00| 3 2 4v V-1 2 50 410 1.0|23 25 3NS+1 »5 430 41.0 1.0
2 1 44 N+1 *2 450 304 11626 22 6¢ O-1 *7 50 410 1.0(27 21 3NS+1 *6 430 41.0 1.0
6 40 44 N+1 *6 450 304 116| 9 39 5¢ O= 3 -400 36.0 6.0| 7 41 3NS= *T 400 30.0 12.0
13 33 44 N+1 *2 450 304 116|127 21 3NO= »5 -400 36.0 6.0|10 38 3NS= »6 400 30.0 12.0
14 32 44 N+1 +6 450 304 116|144 24 3NO= *4 -400 36.0 6.0|11 37 3NN= 3 400 30.0 12.0
17 29 44 N+1 ] 450 304 116| 1 4 4v V= 2 -420 31.0 11.0|13 35 3NS= *4 400 30.0 12.0
22 24 44 N+1 vA 450 304 11.6|10 38 4v V= 2 -420 31.0 11.0|14 34 3NS= *6 400 30.0 12.0
31 15 44 S+1 v6 450 304 11.6| 8 40 4v V+1 +Q -450 19.0 23.0|20 28 3NS= *4 400 30.0 12.0
42 4 44 N+1 *2 450 304 11.6|11 37 4v O+1 *A -450 19.0 23.0|26 22 3NS= *6 400 30.0 12.0
43 3 44 S+1 »5 450 304 11613 35 4v V+1 2 -450 19.0 23.0|29 19 3NS= *4 400 30.0 12.0
44 23 44 N +1 *7 450 304 11.6|15 33 4v V+1 2 -450 19.0 23.0|31 17 3NS= *4 400 30.0 12.0
12 34 3NN= vJ] 400 179 241|118 30 4v V+1 2 -450 19.0 23.0|32 16 2¢ V-2 *A 200 20.0 22.0
28 18 3NN= vT 400 179 241|120 28 4v V+1 2 -450 19.0 23.0| 1 4 INS+3 *6 180 16.0 26.0
7 39 34 S+2 v3 200 116 30.4|23 25 5v V= *A -450 19.0 23.0| 9 39 INS+3 *4 180 16.0 26.0
26 20 34 S+2 *5 200 11.6 30.4(29 19 4v V+1 2 -450 19.0 23.0|42 6 2N S+2 *4 180 16.0 26.0
30 16 34 N+2 »2 200 116 30.4|32 16 5v V= *A -450 19.0 23.0| 3 2 INN+2 v3 150 9.0 33.0
35 11 34 S+2 +9 200 116 304(43 5 4v V+1 2 -450 19.0 23.0| 8 40 INN+2 a2 150 9.0 33.0
25 21 2¢ S+3 *4 150 6.3 357 7 41 3NO+2 48 -460 7.0 35.0(18 30 INS+2 *4 150 9.0 33.0
9 37 3#0-2 2 100 21 399(42 6 3NO+2 5 -460 7.0 350(43 5 INS+2 »6 150 9.0 33.0
10 36 3v O-2 *7 100 2.1 39931 17 4v V+2 2 -480 4.0 38.0(44 24 24 N+1 ¢+ K 140 4.0 38.0
19 27 3#0-2 v4 100 2.1 39914 34 3NO+3 45 -490 1.0 41.0|15 33 24 N= 2 110 1.0 41.0
41 5 A+/A+ 252 25236 12 3NO+3 +9 -490 1.0 41.0|36 12 24 S= *T 110 1.0 41.0

Laholms BK, Laholmsguldet 2011-04-02, sida 7 av 9




49 48 50 & Kn42 51 « E76542
Nord v KDKn876 Ost v10 Syd v K84
Ingen ¢ 753 NS ¢ Kn53 ov ¢ 95
#KKn8 #1076432 D3
& DKn95 «E103 «KD85 #4E96 «KD10 & Kn98
v4 vE109 vED53 v Kn9876 v 1073 vE92
¢ EKDKNn10 +¢ 986 +109 ¢ ED64 + DKn108 ¢ EK63
#E65 #D943 #Kn98 #D #EKN6 #942
&« K7642 41073 3
v 532 v K42 v DKn65
42 ¢ K872 ¢ 742
#1072 &EK5 #K10875
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
33 17 54 O-3 v3 150 420 0.0| 8 42 3v O+2 *A -200 40.0 2.0|29 23 4¢ O-3 43 300 42.0 0.0
4 3 3NO-2 v5 100 36.0 6.0|11 39 3v O+2 *A -200 40.0 20| 2 7 3NV-1 45 100 30.0 12.0
9 41 54 0-2 a2 100 36.0 6.0{21 29 3v O+2 *A -200 40.0 20| 9 43 3NV-1 43 100 30.0 12.0
12 38 44 O-2 v2 100 36.0 60| 1 6 4v O+l *A -450 18.0 24.0|10 42 3NV-1 46 100 30.0 12.0
14 36 44 V-2 vK 100 360 6.0 2 5 4v0O+1 *A -450 18.0 24.0|11 41 3NO-1 *5 100 30.0 12.0
28 22 44 O-2 v2 100 360 6.0 4 3 4v O+l *A -450 18.0 24.0|17 35 3NO-1 43 100 30.0 12.0
24 26 44 O-1 v2 50 29.0 130| 9 41 4v O +1 *A -450 18.0 24.0|20 32 3¢ O-1 43 100 30.0 12.0
44 25 3NO-1 v3 50 29.0 13.0(10 40 4v O+1 *A -450 18.0 24.0|22 30 3NV-1 45 100 30.0 12.0
15 35 4¢ V+1 48 -150 26.0 16.0|12 38 4v O +1 *A -450 18.0 24.0|25 27 3NV-1 a5 100 30.0 12.0
11 39 3vyDN-2 ¢4 -300 24.0 18.0|14 36 4v O+l v2 -450 18.0 24.0|28 24 3NV-1 Ly 100 30.0 12.0
1 6 3NO= v2 -400 19.0 23.0|15 35 4v O +1 *A -450 18.0 24.0|38 14 3NV-1 a7 100 30.0 12.0
10 40 3NO = v2 -400 19.0 23.0|16 34 4y O +1 *A -450 18.0 24.0|44 26 3NV-1 a4 100 30.0 12.0
27 23 3NO= v2 -400 19.0 23.0|19 31 5v O= *A -450 18.0 24.0|13 39 24 N-1 ¢ A -50 18.0 24.0
32 18 3NO= v5 -400 19.0 23.0|24 26 4v O+1 *A -450 18.0 24.0| 3 6 2NV= 46 -120 14.0 28.0
8 42 3NO+1 v5 -430 8.0 34.0|27 23 4v O +1 *A -450 18.0 24.0|31 21 2NV = 43 -120 14.0 28.0
16 34 3NO +1 2 -430 8.0 34.0(28 22 4y O+1 *A -450 18.0 24.0|33 19 2NO= 43 -120 14.0 28.0
19 31 3NO+1 v2 -430 8.0 340(30 20 4y O +1 *A -450 18.0 240| 1 8 3NV= a4 -600 5.0 37.0
21 29 3NO+1 v5 -430 8.0 34.0(32 18 4y O+1 *A -450 18.0 240| 5 4 3NV= a5 -600 5.0 37.0
30 20 3NO +1 v3 -430 8.0 34.0(33 17 4y O+1 v3 -450 18.0 24.0|12 40 3NV= *Q -600 5.0 37.0
37 13 3NO+1 v2 -430 8.0 34.0(37 13 4y O +1 *K -450 18.0 24.0|15 37 3NV= 46 -600 5.0 37.0
43 7 3NO+1 v5 -430 8.0 34.0|43 7 4v O+1 *A -450 18.0 24.0|16 36 3NV= v4 -600 5.0 37.0
2 5 4vyDN-3 +¢8 -500 0.0 42.0(44 25 4y O+1 *A -450 18.0 24.0|34 18 3NV= 45 -600 5.0 37.0
52 « D10984 53 4974 54 « K97
Vast v3 Nord vE82 Ost vKn75
Alla ¢ E43 NS ¢ Kn107 ov ¢ E762
#K1072 #D1083 *ED7
@- & KKn762 4 EK53 4 Kn862 4 EKNG432 45
vKn9842 vK vKnl107 ¢KD vKD v E862
¢ Kn976 ¢ D10852 4 K8543 ¢ E9 +10 + KKn83
&#DKn95 &84 &K #EKN752 #K1098 #Kn642
« E53 « D10 « D108
v ED10765 v 96543 v 10943
+ K + D62 + D954
#E63 £964 &53
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng
25 27 4vDS= *7 790 420 00| 2 9 44 0+1 v3 -450 37.0 5.0|29 25 34 V-2 v5 200 41.0 1.0
31 21 3NN+1 +6 630 40.0 2.0|17 37 44 O+1 v6 -450 37.0 5.0|32 22 24 V-2 v5 200 41.0 1.0
1 8 44 N= vK 620 36.0 6.0|21 33 44 V+1 a7 -450 37.0 50| 3 8 24 V-1 v5 100 36.0 6.0
12 40 44 N= vK 620 36.0 6.0(23 31 54 O= 2 -450 37.0 5.0|11 43 24 O-1 v5 100 36.0 6.0
20 32 44 N= *4 620 36.0 6.0|35 19 44 O+1 v3 -450 37.0 5.0|17 37 24 O-1 v6 100 36.0 6.0
3 6 3NN= 2 600 32.0 10.0|39 15 44 O+1 v3 -450 37.0 50| 6 5 INN-1 45 -50 32.0 10.0
16 36 4¢DO-2 ©vA 500 30.0 12.0| 3 8 44 O+2 *4 -480 16.0 26.0|12 42 2¢DS-1 ¢Q -100 27.0 15.0
5 4 2v S+l *9 140 27.0 150| 4 7 44 O+2 v3 -480 16.0 26.0|21 33 INDN-1 &5 -100 27.0 15.0
33 19 2v N+1 v3 140 27.0 150| 6 5 44 O+2 v9 -480 16.0 26.0|23 31 3v S-2 vK -100 27.0 15.0
13 39 2NN = 2 120 240 180(10 1 44 O+2 2 -480 16.0 26.0|44 27 3v N-2 s A -100 27.0 15.0
2 7 44 S-1 *7 -100 16.0 26.0|11 43 44 O+2 v3 -480 16.0 26.0| 2 9 24 V= v6 -110 19.0 23.0
11 41 44 N-1 *Q -100 16.0 26.0|12 42 44 V+2 8 -480 16.0 26.0|13 41 24 V= v5 -110 19.0 23.0
15 37 4v S-1 *Q -100 16.0 26.0|13 41 44 O+2 *4 -480 16.0 26.0|16 38 24 V= v5 -110 19.0 23.0
17 35 44 N-1 *8 -100 16.0 26.0|14 40 44 O +2 v3 -480 16.0 26.0|18 36 2# V+1 *A -110 19.0 23.0
22 30 44 N-1 2 -100 16.0 26.0|16 38 44 O +2 2 -480 16.0 26.0|14 40 24 V+1 +6 -140 13.0 29.0
34 18 44 N-1 2 -100 16.0 26.0|18 36 44 O +2 +3 -480 16.0 26.0|39 15 24 V+1 +6 -140 13.0 29.0
44 26 44 N-1 *4 -100 16.0 26.0|26 28 44 O +2 2 -480 16.0 26.0| 4 7 3vS-3 *T -150 6.0 36.0
9 43 4v S-2 +6 -200 4.0 38.0(29 25 44 O+2 v3 -480 16.0 26.0|/10 1 3v S-3 *T -150 6.0 36.0
10 42 49 S-2 +5 -200 4.0 38.0({30 24 54 O+1 v5 -480 16.0 26.0|26 28 3v S-3 *T -150 6.0 36.0
28 24 4v S-2 *9 -200 40 38.0(34 20 44 O+2 v6 -480 16.0 26.0|30 24 3v S-3 s A -150 6.0 36.0
29 23 44 N-2 ¢+ 4 -200 4.0 38.0(44 27 44 O+2 v3 -480 16.0 26.0|34 20 3v S-3 s A -150 6.0 36.0
38 14 44 S-2 *7 -200 40 38.0(32 22 64 O= v6 -980 0.0 42035 19 3vS-4 s A -200 0.0 42.0
55 & KDKn743 56 « EKKn95 57 & Kn7
Syd vDKn10 Vast v EK83 Nord vE52
Alla *7 Ingen + Kn3 ov + Kn85
#1096 2104 #K9532
a5  E£10982 4643 48 4D1053 #E8642
vE84 v K96 v 1074 v9 v 984 v DKn1073
¢ 543 + Kn1082 +D108652 ¢ 974 +10 +E9
#EKD872 #5 &E #KKn986532 #EKNn874 #10
46 « D1072 4 K9
v 7532 v DKn652 vK6
¢ EKD96 ¢ EK + KD76432
#Kn43 &D7 *D6
Par  Kontr ut Res Poéang Par  Kontr ut Res Poéang Par  Kontr ut Res Poéang
33 23 44 0-1 *7 100 420 0.0| 3 10 64 N= v9 980 39.0 3.0|32 26 4¢ S= 45 130 42.0 0.0
5 8 24 N-1 +J -100 38.0 4.0|35 21 6v S= *A 980 39.0 3.0| 510 54 O-1 +Q 100 39.0 3.0
13 43 24 N-1 *J -100 38.0 4.0|36 20 64 N= *J 980 39.0 3.0|44 29 54 O-1 + K 100 39.0 3.0
19 37 24 N-1 »5 -100 38.0 4.0|44 28 6vy N= *9 980 39.0 3.0|16 42 5¢ S-1 45 -50 350 7.0
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18 38 3& V= s K -110 80| 4 9 44 N+2 v9 480 19.0 23.0 3NS-1 43 -50 . 7.0
22 34 24 N-4 *2 -400 110 5 8 44 N+2 v9 480 19.0 23.0 5¢ S-2 45 -100 .0 12.0
30 26 34 N-4 »5 -400 11.0(11 2 54 N+1 v9 480 19.0 23.0 54DS-1 v4 -100 .0 12.0
11 2 34DN-2 45 -500 150(12 1 4y S+2 *A 480 19.0 23.0 5¢DS-1 43 -100 .0 12.0
27 29 24DN-2 %6 -500 15.0 (13 43 44 N +2 v9 480 19.0 23.0 3vy O= + K -140 .0 16.0
44 28 3NV = 46 -600 18.0(14 42 5v S+1 *A 480 19.0 23.0 34 O+1 +Q -170 .0 18.0
4 9 3NO+1 ¢ A -630 22.0 (15 41 44 N+2 v9 480 19.0 23.0 54DS-2 a5 -300 .0 25.0
35 21 3NO+1 ¢ A -630 22.0(17 39 44 N+2 *6 480 19.0 23.0 S-2 46 -300 .0 25.0
36 20 3NO +1 ¢ A -630 22.0(18 38 44 N +2 .7 480 19.0 23.0 S-2 v4 -300 .0 25.0
31 25 INDO+3 +¢A -780 26.0 (19 37 44 N+2 v9 480 19.0 23.0 S-2 45 -300 .0 25.0
15 41 24DN-3 &5 -800 30.0|22 34 54 N+1 v9 480 19.0 23.0 S-2 45 -300 7.0 25.0
24 32 24DN-3 &6 -800 30.0|24 32 44 N+2 v9 480 19.0 23.0 S-2 45 -300 7.0 25.0
40 16 24DN-3 &2 -800 30.0 |27 29 44 N+2 v9 480 19.0 23.0 44 O = + K -620 6.0 36.0
3 10 3¢DS-4 &A -1100 37.0|30 26 44 N+2 v9 480 19.0 23.0 46 O = + K -620 6.0 36.0
7 6 3aDN-4 £Q -1100 37.0|31 25 4y N+2 *A 480 19.0 23.0 O = +Q -620 6.0 36.0
12 1 34DS-4 #A -1100 37.0|40 16 44 N+2 v4 480 19.0 23.0 44 O = + K -620 6.0 36.0
14 42 34DN-4 &5 -1100 37.0| 7 6 5#4D0O-2 K 300 1.0 41.0 44 O = + K -620 6.0 36.0
17 39 4¢DN-5 &5 -1400 420133 23 54D O-2 +vQ 300 1.0 41.0 49DO+1 ¢K -990 0.0 42.0
58 43 59 « K872 « KKn732
Ost v 84 Syd vE7 v K102
Alla + EKn10876 Ingen ¢ EKn10 ¢ 64
#EKn103 #9865 &E42
«ED6 410874 4 D10954 o- @- « ED104
v652 vE1073 v104 v KKn962 vKn973 vD6
¢K42 +95 ¢ 853 + KD74 ¢ KD932 ¢ Kn85
K984 652 «D107 #EKKn4 #K1063 #DKn87
4« KKn952 # EKn63 #9865
v KDKn9 v D853 vE854
+D3 4962 ¢ E107
&D7 #32 #95
Par  Kontr Ut Res g Par  Kontr Ut Res Poang Kontr Ut Res g
37 21 2vDO-4 K 1100 0.0|38 22 44V -4 *9 200 42.0 0.0 4¢ V-1 43 50 2.0
16 42 3NN +2 v7 660 40(13 4 1a N+1 *A 110 40.0 2.0 3¢ V-1 *4 50 2.0
20 38 3N N+2 *4 660 40( 5 12 3NO-1 6 50 350 7.0 44 O -1 45 50 2.0
32 26 3NN +2 v7 660 40(24 36 24 V-1 vA 50 350 7.0 2¢ O= v3 -90 6.0
8 7 3NN+1 v7 630 11.0(29 31 3NO-1 *6 50 350 7.0 24 N-1 *Q -100 11.0
23 35 3NN+1 v3 630 11.0(32 28 3NV-1 v3 50 350 7.0 24 N-1 +6 -100 11.0
31 27 3NS+1 *4 630 11.0(15 2 INN-2 v2 -100 25.0 17.0 24 N-1 *Q -100 11.0
36 22 3NS+1 *6 630 11.0(16 1 24DN-1 #A -100 25.0 17.0 24 N-1 *Q -100 11.0
14 1 3NS= *2 600 17.0 (19 41 24DN-1 #A -100 25.0 17.0 3 0= 46 -110 16.0
28 30 3NN= a7 600 17.0 ({20 40 24DN-1 +¢K -100 25.0 17.0 2N O +1 46 -150 18.0
41 17 2v S+3 v2 200 20.0|37 23 24DN-1 #K -100 25.0 17.0 24DN-1  #Q -200 26.0
15 43 2NN +2 *6 180 240(44 30 24DN-1 #A -100 25.0 17.0 34 N-2 *Q -200 26.0
25 33 INS+3 *4 180 24.0(33 27 29 O = v3 -110 18.0 24.0 34 N-2 *Q -200 26.0
34 24 INN+3 *6 180 240( 7 10 3v O = 3 -140 16.0 26.0 34 N-2 *Q -200 26.0
6 9 3¢ N+2 46 150 30014 3 24 0+3 2 -150 14.0 28.0 24DN-1  vQ -200 26.0
18 40 2NN +1 *6 150 300| 6 11 3vy O+1 +9 -170 11.0 31.0 24DN-1 #Q -200 26.0
19 39 3¢ N+2 *2 150 30.042 18 2y O +2 3 -170 11.0 31.0 24DN-1  ¢Q -200 26.0
12 3 1a S+2 v2 140 340| 9 8 34DN-2 &K -300 6.0 36.0 3N O +1 46 -430 35.0
4 11 3¢ N+1 *2 130 38.0|21 39 14DS-2 *T -300 6.0 36.0 3NO +1 4] -430 35.0
13 2 3¢ N+1 v3 130 38.0|26 34 24DS-2 v4 -300 6.0 36.0 34aDN-2 #Q -500 40.0
44 29 3¢ N+1 3 130 38.0|17 43 3vDO= »5 -530 2.0 40.0 34aDN-2 #Q -500 40.0
5 10 3¢ N= *2 110 42.0|35 25 34DS- vT -800 0.0 42.0 34aDN-2 vQ -500 40.0
61 410653 62 «1094
Nord v 1043 Ost v 64
Alla + ED85 Ingen + EKD973
#Kn2 #Kn3
«D9 & KKn8 # 865 « K3
v 9765 v Kn8 vKKn2 v109
¢+ Kn + K9732 ¢ Kn105 ¢ 8642
#D97643 #E105 #D1092 #EK764
« E742 « EDKn72
v EKD2 v ED8753
¢ 1064 ¢-
#K8 #85
Par Kontr Ut Res g Par Kontr Ut Res Poéng
8 11 3NN= +6 600 0.0|25 37 44 S+2 5 480 42.0 0.0
18 1 24 N+2 2 170 40(16 3 44 S+l 45 450 36.0 6.0
33 29 34 N+1 v3 170 4.0(30 32 4v S+1 46 450 36.0 6.0
39 23 24 N+2 vJ] 170 40 (34 28 44 S+1 46 450 36.0 6.0
10 9 1a N+2 vJ] 140 15.0 (38 24 44 S+1 +J 450 36.0 6.0
13 6 24 N+1 v] 140 15.0 (44 31 44 S+1 45 450 36.0 6.0
16 3 24 N+1 *A 140 150( 7 12 44 N= *A 420 27.0 15.0
17 2 24 N+1 2 140 150({10 9 44 N= *A 420 27.0 15.0
21 41 24 N+1 vJ] 140 150(18 1 44 S= *9 420 27.0 15.0
22 40 34 N= 2 140 150(43 19 4v S= +5 420 27.0 15.0
25 37 24 N+1 vJ] 140 15.0(39 23 3v S= *2 140 22.0 20.0
38 24 2v N+1 +9 140 150( 8 11 4v S-1 *6 -50 11.0 31.0
15 4 INS+1 +J 120 240(13 6 44 N-1 *A -50 11.0 31.0
34 28 3#V-1 46 100 26014 5 4vS-1 *2 -50 11.0 31.0
14 5 INN= +3 90 31015 4 4vS-1 *9 -50 11.0 31.0
27 35 INS= *9 90 31017 2 4vS-1 *9 -50 11.0 31.0
43 19 INS= *4 90 31.0{20 42 4v S-1 »5 -50 11.0 31.0
44 31 INS= *7 90 31.0{22 40 5¢ N-1 *A -50 11.0 31.0
20 42 3v S-2 +J -200 37.0|27 35 44 N-1 vT -50 11.0 31.0
36 26 34 S-2 +J -200 37.0(33 29 44 N-1 v3 -50 11.0 31.0
30 32 44 N-3 *2 -300 40.0 36 26 4v S-1 *9 -50 11.0 31.0
7 12 34DV= 45 -670 42.0|21 41 3NN-3 *4 -150 0.0 42.0
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